29. Findx given sec(x) =-2 and -n<x<0. T |
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-am
Sm *
b) r=- c} x=- dy x=- e) None of these
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30. Whatis the period for the graph of f(x) = 2005(15—2x - 38—75) ? Perjocl= 2 ] B=

2 here.
2 B3 12
Do = AE . 95, 12 ,
; -, — b -~
= oo
b) %TE— c) g—z d) 567t e) None of these
31. What is the direction and amount of shift for the graph of f{x) = 2005(15—2 - 3n) (- X - 3 -0

8
To Fiad the shi ¥t we gt avy umenbt = O

7
- 5 x =3m,12
¢ 2 X | oditive_, the St 18 o, 5 12 & s

X

ST ft would be left.)

9o
~ = Ar
a) right% b) ﬁght% 0) 1eft% d) left% e) None of these 4
el K

32. Inthe graph of f{x)=-4sec %x), where is the first asymptote on the positive x-axis? ¢

|

!
T4+ 15 help fu! Jo draw +he graph ot Jcr;awf tfo £/qure oud i
WW +o IOijcdr. The’ Jw\\alell‘ﬂ?—j\"‘ﬂfl\ 49 (x)= -4 eos (%x)g \' .’r’; '\:
So, wit fiest need dhe pev-iocl . The cmiwer 11 The £irst " |
Yhe CbM\’*’w—-Per;ed- )

% o _.(;r’ a&ymph'l‘&
Por = S ¢ 205 190, S0 %:hr(zerd- Q' s ot the
erE g TS § ¥ § b

-
. puerter - perieel
w b) atx= S—én— ¢)., atx= L—?— d) atx= -85£ e) None of these
P e

33. Inthe graph of f{x)=5csc (—g—x), where is the firs

’ L; Ter

m the positive x-axis? half - pgev.
the jwjdel,‘he graph 5 90%) = {;5,‘,,\ Q?Sx) , Y e t‘ :
11\2, &< as M{,dm‘z M-:H\e, \OQH f'lv*‘-'x),-a,x,,'; Ir mj % \\‘ ?6(;
the half-period - - A

s Lir |8 ' 1

Por- 2L .27 8- ler  fulf-por=L . 1em |37 [ 3
_;_' 3 5 : 5 ‘ \ \\w/‘
¢ | \

a) atx= %IE b) “atx= 4511 c) atx= %t d)- atx= ?g e) None of these
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For B3Y and 35, there are Jhree velated idont e Ju- oS (26):

34. Given 0 is in Quadrant I and secO = V5, evaluate cos(26). ~ (b) (’/01 oF - ‘g’” [
Because Seca:\}?)wkww vhat dosg- L. (LL)JCoJ’efﬁlz
So, uoe  (Qos(20) = .Qco: (o) ~1 rf - (C“\(:) i

Cos (20) = ) = ’/ 5
= 2 J. -1

P

| W
o
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1
| W

a)

c) —-5— e) None of these

35. Given 0 is in Quadrant II and csc8 = V6, evaluate cos(26).

LN
Becaure CSe & :\[(:)Uv‘t Knoww Stal = A,
: 2 Ve
32, use Ces(2@)= - 251n*(#) {2
) 2 = =
tos(z0) = 1-2- (%) & &
‘ 6 & | 32
a) % b) —% c) -% d) % ﬁe of these
36. In triangle ABC,a=14,b = 6,and ¢ = 10. Use a Law of B
Cosines to find v
osines to fin al Y
€
(Hint: 112 = 121, 122 = 144, 132 = 169, 142 = 196, 152 = 225, 162 = 256) I2)
2 2 on? C
a2 = b2 + c2 — 2bc-cos(A) cos(A) = sl ool A b

2bc oY 4
Because we ore to it mLA, (o5 ) = G xlo - 19°

ufe +he Second :PWMM la ¢ ‘ (:. ((e)(tu)ml9
3¥i100 - M.

56 CosA: _"i_ which weanr . |20

LB et el g —— 2
(o]
y - \
a) 30° b) 60° d) 150° ¢) None of these

Note: m Jhe acheal #le dam, jow w et \oejiven%e
Mt about ( = iBh 0., WE 256) 70«4 won
need Yhis hint.

MAT-36 Final Exam Pretest




s In triangle ABC, m£A = 120°,b = 7,andc = 8. UseaLawof B

Cosines to find the length of side a. u
C
(Hint: 112 = 121, 122 = 144, 132 = 169, 142 = 196, 152 = 225, 16% = 256) e

2 4 02— g2
a2 = b2 + 2 - 2bc-cos(A) cos(A) = b-l-—gbc_a__ : i

Be cause we are +» FPrhd Sicle o, Uds +he Aivz# VClH‘Mulq ;
a(7) + ()= 2()(8)-cos(l20%) 42 34560
qL:/Lici‘l'é“/'lIZ’(‘}‘l) at= 164
at= 113 = £56) da Jieh

a <= i"%]
a) 15 @ v 122 d) e) None of these

&

A,

38. Identify the function shown. Write it in the form of either @ Trnce Hhe @e/ v ool *(': g
fix) = Asin(Bx) or f{x)=Acos(Bx) ue know w here the
N N . N \ \ -P-IV".H’ Cy cle ende:
Frrst, Hus 15 a pos Hve sine Funchm :
w i th an &wph\w of 4 ¥so n
A\ ; %\‘ 14 :
@J’(X):‘ qSln( x} - \
ouw-_‘)olo 1 Jo
C:‘::)-) por = 2 4. oy Flad 13: | |y
3 Be-2r (T) Hhosis at the
2T @ ~‘per:ool To
¥ = o= i 2
i pur=2L . 20,1 2 e per

YY)Mlh}olp 1+ ’Q:j _’i
o

(D So, [Fm=Ysin (7;&

a) flx)=4sin( = ) / b)Y fixi= 4sm(4) c) fi(x) =4sin gEix)

e) None of these
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